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Question No. 23

What is the [H,0"] in a solutionwith [OH ] = 1 x 10" M?

Y rx10tMm

& 4
1x10°M

Yrx10BM

C1x10°M
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Question No. 21

What is the coefficient of oxygen gas after balancing the following equatio
__H02() = _H20()+ _02(g)
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]

An aqueous solution of is colysidered as strong electrolyte, thus, it can conduct electricty.

¢ 0,
CsH1204

v
CsHis
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Question No. 21

What is the coefficient of oxygen gas after balancing the following equation?
A
_H202(/) — __H20(/) + _02(g)
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Question No. 25

I The most correct name for the compound NI; is:

*' nitrogen triodide

' mononitrogen triiodide
' nitrogen todide

. triodo nitrogen




“Question No. 23

Which of the following solutions is the most basic?

Y [H07]> 1.0 2 10°M

©[H;0°]= 1.0 < 1010 M

© [OH]=1.0 7 101 M
[OH]< 1.0« 1010 M

l e & Neat LR, ke
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Question NA B

Achemical equation is balanced when

© the total number of ons is the Same in reactants and products
© the number of atoms of each element is the same
© the total number of molecules is the same in react
© the sum of the coefficients of the reactants i equ

In reactants and products.
anls and products

alto the sum of the coetlicients of the Moducts

Scanned with CamScanner
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' Question No. 34

|

{
- Which structure below represents a kelone?

U
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Scanned with CamScanner

Owestion No. 1 _ . Bee
To which Lamily does the following oneanic compound belong?
(¢

/"
CH-CH-C-CH-CH)

e T a— ‘
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Question No. 22

vinat s the molarty of a solution made by dissehving 25 00 g of NaCl m enough waler o make 625 mL of solutioi

0684 M
0308 M

s

79 M

"
~

h

26 M
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Question No. 33

Dinitrogen tetraoxide decomposes to produce nitrogen dioxide. Calculate the equilibrium
constant for the reaction given the equilibrium concentrations at 100 °C:
[N.O,] = 0.60M and [NO,]= 1.00M.

N,O,(g) < 2NO,(g)

K¢ =1.67
Kc=2.00

Kc=0.625
Ke=0.500
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Question No. J7

Identify the type of this organic compound:
(0]

PN

ketone
aicohol

carboxyhc acid

3:’05’"'_!'0".‘
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Question No. 3§

Sounions that ressst sharp changes i their pH values are called

aaducts
eiecirohtes
non-electrohtes
buters
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Question No. 39

When the temperature is decreased on the following system at equilibrium:
HClay + Mgy & MgCluy + Hyp + heat

None of these choces s true
the reaction shifts left to reslore equiibrium

Ihe reacticn shifis right to restore egquiktbrium

No change occurs

Scanned with CamScanner
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Question No. 40

Refer to the equilibrium shown below. If the reaction volume is increased. this will
CHj (g) + 202 (2) # CO2 (g) + 2H20 (2)

cannol be determined, since the lemperature s unknown
shift the reaction to the right
have no effect

shift the reaction 10 the left

Scanned with CamScanner
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| Question No, g

| | What substance s oxidized in the foHowin

Zn(s) + Cu¥(ag)— Z0agys Ci;:)dox reaction?
o
' Cu
- Zn2+
Cu2+
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Question No. 24

Refer to the equilibrium shown below. Adding excess oxygen will
CHj (g) 1 202 (g) = CO2 () + 2H20 (g)

U have no effect
© cannct be determined, since the temperature s not known
' shm the reaction to the nght
shift the reaction to the lefl
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Question No. 27

After a chemical reaction reaches equilibrium,

—

' The amount of products is increasing.

- The amount of reactants and products are constant.
The amount of products is decreasing.
The amount of reactants and products are equal.

Scanned with CamScanner
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Question No. 29

What s the empirical formulaofthe compound that hasa compositionby mass 0f84.2% C

and 15.8% H?

O C3Hg
O CgHyo
O C4Hy 7 N Y
' CsHo

Scanned with CamScanner
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Question No J0

Which of the foiliraing s true € the Mydronum on condentrahion “Ncaeses” n an aqueous sokiton?

pHdecreases
pHincreases
Kyw increases
Aw decreases

Scanned with CamScanner
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! Question No. 20

L S —— i T —

|

 Identify the conjugate acid in the following reversible reaction.
| HF(aq) + HSOj3(aq) «» F(aq) + HSOs(aq)

© F(ag)
“ H)SOs(aq)

“ HF(aq)
O HSOs-(aq)

Save & Next 18, ki
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Question No. 39

When the temperature is decreased on the following system at equilibrium:
HClyy + Mgy & MgClyy + Hyy + heat

None of these choices s true
the reaction shifts left to restore equibrium
ihe reacticn shifts nght to restore equibrium

No change occurs

Scanned with CamScanner
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Question No. 26

- —— _——

 Which of the following pairs of species is NOT a conjugate ackd-base pan?

© H,SOs and HSOy
U NH; and NH;

U H,0 and OH"

“ HSO4 and SO/
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- Question No. 28
For thefollowingacid-base reaction denti
HCI#NOH =277+

‘ U H0c] ac1d
| 0 NaOH, base

IU NaCl, acid i

' NaCl, water
l

|
F
|
I
|
|
i
|



Scanned with CamScanner

Tolal questions in exam 40 | Answered J2

Question No. 29

In the reaction below, what is the theoretical yield in grams for B:Hs when 5 moles of
BF; react with 4 moles of NaH?
8BF; + 6NaH — 6 NaBF1 + B;H;
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' Determine the limiting reactant (L.R) and the theoretical yield (in g) of iron (
- can be formed from 28.65 g Fe,Os and 10.0 g Al according to the following e
| Fe,03 + 2A1 — ALO; + 2Fe

O Al 19.99 g Fe.

O Fe;03, 20.7 g Fe.
© Fey0;, 19.99 g Fe.
© Al, 20.7 g Fe.

I~
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Questiamr Na. 3%

A reaction with an equilibrivm constant Ko = L5 x 10'S wanid consist of which af the following at equilibrinm

= some reactants and products with reactants slightly favared:
* mainly reactants are favorea
2 mainly products are favored

'~ approximately equal reactants and products

Scanned with
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Solid aluminum and gaseous oxygen react in a combination reaction to produce Al;03
4Al(s) + 302(g) — 2A103 ()

The maximum amount of Al703 that can be produced from 2.5 gofAland 2.5 g of

z

Oyis
Qa7
074
@53
94

A
TCWARE -
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Question No. 6

gives a non-electrolyte when dissolved in water.

weak base
CﬂCIz

HNO,
Ci2H3504,

Scanned with CamSc:
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What 15 the type of the following alcobol?

H
|
04,-04,-?—04
H
o Traderngry
e o )
U prrenry

e Primary
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Question No. 3

What is the coeﬁ‘:cien; of oxygen gas after balancing the following equation?
—AgClO3(s) — __AgCl(s) + _ 03(g)

Scanned with CamScanner
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Question Ng, g

)+ Oy edin tho. "0“111_:3md -
Zn Oy o ction?
Cu
Zn2+
Cu2+

e
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solution, calculale the molarity of this solution

Question No. 7 e

If 5.0 moles of LiF are dissolved in enough water to make 2.5 L of

O10Mm
O20M
O25M
O p75M

Scanned with
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Question No. 8

molecular formulas corr

Which of the foliowing €sponds to an alkene?

) Csts
CSHI:
CeH,,

: CSHIS
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Question No. 14

How many grams of AICI; could be produced when 1.5 moles of Cl; completely react
with aluminum according to the reaction?

2A1+3Cl; — 2AICH

134 g
333 ¢
® 2670
533¢
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Question No. 4

What is the oxidation numberofironin F 0,2
O 5 3
O 3

® 53

- 48
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i Question No. 6

: Which of the following generic formulas is correctly representing a “saturated hydrocarbon"?
|

:O CnH2n+2
° CH,

¥ CnHEn-Z
v

Scanned
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Question No. 5

e

What is the correct name of the following compound?
CHS_ CIH - CH3

F
o 2-luoropropane
- fuoropropy)
» 2-ﬂuorcbu‘.ane
~ 1-.‘!uoropropane
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Question No. 40

What is the final molarity of H{SO;. solution, if 80mL of 4AM H,S0O, was dilutedto a
final volumeof1 L?

@ 048M
© 024M
O 0.32M
Q 0.40M
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Question No. 3

The following reaction is exothermic. Which of the following will drive the reaction
the right (towards products)?

CH, (g) + 2 O, (g) = CO, (g) + 2 H,0 (g) + heat

© Anincreasein temperature
“ Anincrease of H;O
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Question No. 3

The following reaction is exothermic. Which of the following will drive the reaction to
theright (towards products)?
CH, (g) + 2 O, (g) = CO, (g) + 2 H,O (g) + heat

© Anincreasein temperature
“ Anincrease of H;O

“ The removal of CH,

“ A decrease of CO,

Scanned with CamScanner
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What substance is the oxidizing agent in the following redox reaction?
Za(s) -~ Cu™ (ag) — Za™ (ag)+ Cu(s)

Save L MNext A,

__-#
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Question No. 39

When the substances ‘in the 'equaﬁon below are at equilibrium, at pressure P and temperature T,
the equilibrium can be shifted to favor the products by
CuO(s) + Hx(g) = HyO(g) + Cu(s) + Heat

© adding more CuO

© Increasing the pressure.

Q decreasing the pressure.

© decreasing the temperature

[ Scientific Calculator -
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! Question No. 38

|
| Which of the following is NOT a conjugate acid/base pair?

|
l
{
O H,S0; /SO5*
i

' © HCl/Cl

- © HNO; /NO5y
'© HBr/Br

Scanned with CamScant
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" What is the family of a compbund that has he following general formula?

I
R—C—H
© ketone
O aidehyde
@ carboxylic acid
O ester
[ Scientific Calculator S l
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;' Question No. 33

Give the direction of the reaction, f Kc >> 1

O Both directions are equally favored.
O The forward reaction is favored.

U The reverse reaction is favored.

U Neither direction is favored.

Scanned
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Question No. 37 ;
idoae 1 PRI = Rt

“amm - s g - SRR SR S —

Determine the value of K¢ for the following reaction if the cquilibriﬁm concentrations are

as follows: [N2]eq = 1.5 M, [H2]eq = 1.1 M, [NI3]eq = 0.47 M.
N2(g) + 3 H2(g) + 2 NH3(g)

© 0.11
@35
© 0.28
@91
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Question No. 36

Choose the correct name for the following compound:
Br  CH,

CH,

O 2-bromo-2-methyltoluene

O 1-bromo-1,2-dimethylcyclohexane
© 1-bromo-1.2-dimethylbenzene

' 2-bromo-1,2-dimethylcyclohexane

Scanned with CamScanner



Question No. 32

The conjupate base of HySOq is

9 HSOy
@ HSO,*
Y HLSOy
@ o

Scanned
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Question No. 29
__________compounds.

I Organic compounds that contain a "benzene ring” are called

O saturated
O carboxylic
O cycloalkane
O aromatic

Scanned with CamScanner
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" Question No. 28

- Whatis the [OH"]in a solutionthathas a [H,0']=1x 1 0 M?

©1x10°M
91x10?M
©1x10%°M
C1x10"M
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Question No. 31

How many grams of AICl3 couldbe produced when 94.5 grams of Al completely react
with Cl, according to the reaction?

2A1+ 3Cl; — 2AICL

O s533¢g
O 133¢g
| © 399¢g
| @ 4679

Scanned with CamScann



Question No. 31

How many grams of AICl; could be produced when 94.5 grams of Al completely react
with Cl, according to the reaction?

2Al1+ 3Cl, — 2AICL

O s33¢g
O 133g
| © 399¢g
| © 4679

Scanned with CamScan
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Question No. 27

' Themass percent compositionofoxygen in the acid HSOs is:

0 653% [y
O 25%
O 58.5%
O 39.1%
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Question No. 24

Identify the substance that contains ionic bond.

© Kal
O Ne
O co
“ H0

Scanned with Cam
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uestion No. 25

dentify the Bronsted-Lowry conjugate acid in the following reactior
H,0 + CO;” — HCO, + OH~

' HCO;
) H,0

) ks
> co?

7 OH"~
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Question No. 28

Based on Lewss structures, the number of lone pars of elections in the water mokecie

©2
()8
l",‘

(’3

i SO Caciulaton
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Question No. 23

Which of the following expression symbols is used for quantifying acidity and basicity?

© pH
O aH
< bH
 eH

Scanned with CamScanner
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Question No. 21

Which of the following pairs is NOT a conjugate acid-base pair atcording 1o the concept of Bronsted-Lowry?
© H;POs and HPO4-
© H3POs and HyPO+~

© H3PO« and HPO2-
O HPO42-and PO

’ Scientific Calculator “\
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Which of these substances gives a weak electrolyte when dissolved in water?
~  ionic salt

“  strong acid

- weak base

~ strong base

Scanned with CamSc
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Question No. 16

Provide the name of the compound below.

1.3-dmethyicyclohexane
1.2-dimethylhexane

2 4-dmethylkcyclohexane
Dimethyicyclohexane

Scentinc Caiculator
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Question No. 18

In the reaction below, whatis the theoretical yield in moles for LiOH when 6 grams
of Li;O react with 7 grams of H,0?

C 1.0mol
~ 0.4 mol
C 06 mol
© 0.8 mol

Scentific Caicuiaior

Li;0 + HO — 2LiOH
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Question No. 19

The number which 15 kcated on the LEF T of a chemical Tormula that helps o balance a chemical equation i cated

coeffioent

superscrg
exponent

subscrpt
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Question No ¢

PAAW DAy Ivteogen atomes are there i "batane" @
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Question No. 13
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Which of the following is a polyatomic ion?

- PQ()3L

- Brl
Na'*

Scannec
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dissier e 13

How many moks of (NHe).S aretheren 150 of (NHy L. S?

v 135

al'

-

i
A

-
-
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Question No. §

= A

The oxidation numberof Crin Cr,0,” is

@ 22
LY
0 .5
& .
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What is the mass®e ofcarbon in (CHHaM)?

@ 7NN
CoRdY

¢ XtN
OR8N

-,

38.7%
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Question No. 5

-

What is the name of the following compound?

—

O 3-methylenehexane
O 3-methyl-3-hexene
' 4-ethyl-4-hexene

L 3-methyl-2-hexene
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| Question No, 7

The TUPAC name of C3Hy is

O popene
O propane
o hutyne

Wpropyne

’,
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Ouestion Mo 9

o many prams of AICH could be produced when $4 grams of Al completely react
With €1 according to the reaction?
ZALVICH « 2AKCD

TR
! ”lu
LARNT}

Ty
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Question No. 11

To which family does this organic compound belong?
0

OH

~ ether
~ amine
- carboxylic acid
- amide

Scanned with CamScanner

T2 yesions 1w 8 | Arseerms ]




Scanned with Can

Identify the type of this organic compound:
0

“oketone
~akehyde

“ carboxyic acd
~' akohol



Cuesbon No. &

konc oncng s formeg as a result of

O transter of elecrons.
O shanng of eecons

C gan of elecrons ooy
U ioss of eecons ony.
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Question No. 1

. — o —

The name of the chemical compound KNOj is:

O potassium nitrite
O potassium(l) nitrite

O potassium(l) nitrate
‘ O potassium nitrate

|
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Question No. 1

Scanned with CamScanner

Express the equilibrium constant for the following reaction.
PCls (g) = PCI3 (g) + Cl2 (g)

>

_ [PCI3)(CI2]
[PCls]

. [PCI32{CI2)

~ [PCl5)2

. [PCIs]
- TPCI3][CI2] ,

_ [PCI3)(CT)2
- T [PCls)

?
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Question No. 3

Determine the molecular formula of a compound that has a molar mass of 146 g/mol an
an empirical formula of C3H;50.

O C3H50;
© CoHi50s
© CeHy504
© Cel1004
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Question Ne. 6

What is the equilibrium constant expression for the following reaction?
4 NH,(g) + 5 0,(g) = 4 NO(g) + 6 H,0(g)

K¢ =[NH;]' [0, /[NOJ' [H,0]°
Ke = [NOJ* [H,01/ [NH,]* [0
K¢ = [NOJ [H,0]/ [NH,] [O4]
Ke = [NI1,][0,] /[NO] [H,0)
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If. at equilib
what is the va

O o.1
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sider the reaction:
rium ata ¢

4

Q 8 68
< 6.94

jue of the €

280:g)

ertain temperature,

oz(g).(—v 2503(®) ~
[SOZ] = 1.50 M1 [02],

quilibrium constant Keq?

=0.120M, and [8O31= 125M,
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Question No. 2

- M ES .

Name the following compound:

Z

- O 2-methyl-4-ethyl-5-hexyne
O 4-ethyl-2-methyl-5-hexyne
O 3-ethyl-5-methyl-1-hexyne

- U 5-methyl-3-ethyl-1-hexyne



Question No. 36

If the reaction is endothermic, which of the following 15 always true?

' the reaction rate is fast

‘. the reaction takes in heat
'~ the reaction gives out heat
'~ the reaction rate Is slow
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The reaction that requires thermal enerqy 10 proceed is known as (eathon.

O oxidation
V' endothermic
< isothermic

< exothermic
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Questien No 27

Refer to the equilibrium shown below. Which of the following will shift the reaction to the

he?
- CHy () + 202 (2) = CO2 () + 2H20 ()

adding excess oxygen
invreasing the pressure

removing carbon dioxade as soon as it is formed
adding O; and removing CO;

Scanned with CamScanner
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Refer to the equilibrium shown below. If the reaction volume is increased, this will ___ -
CHj4 (g) + 202 (g) = CO2(®) + 2H20 (8)

@ shifl the reaction 1o the left

@ shift the reaction to the right
© cannot be determined, since the temperature is unknown

© have no eflfect
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Question No. 12

In the following reaction, whatis the effect on the direction of the reaction if more SO,
is added to the reaction mixture?

250, (g) + O, (g) = 2S0; (8)

© The equirum shifts to produce more products.
< The rate of formation of products 15 increased

= The posttion of the equikbrum remains unchanged.
' The equisbrium shifts to produce more reactants
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Question No, 21

il e e e ————— el el B et e A A e

“A system at equilibrium tends to mamntain equidrium®, this stalement is known as

O Avogadio’s principle

) Haber's law

O The law of chemical equilibrium
U Le Chateler's principle
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Question NO. 2V

What is the IUPAC name for: CH,-CH,-CH,-CH;?

O pentane
O butane

C heptane !
C hexane
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Question No. 32

Which of the following pairs is NOT a conjugate acid-base pair

' H3;POs;and HPOs>~

“' H3;PO4 and H2PO4s~

' H,POs and HPO4*-
HPO42-and PO

according to the concept of Bronsted-Lowry?

Scanned with CamScanner



------

Scanned with CamScal

Quesuon No. 29
If the [OH'] in a blood sample = 1 » 1077, the pH of this blood sample is

pH=1x10"
pH=1x 10"
pH=7

7 pH=-T7
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Question No. 40

| e

| Based on Lewis dot structures, the number of lone pairs of electrons in HCI mofecule Is pairs.

@ ¥
Q2
U3

(.ro_
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Question No. 4

A solution is made by dissolving 2.68 mole of KF in enough water to give a final volume of 1030 mL. What is the molarity of the solution?

Q152M
O 260M
' @ o8o0M

O 0125M
&

Scanned with CamScanner

Question No. 18

- Provide the name of the compound below.
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Question No. 38

- Provide the name of the compound below.

U 2.3-dimethyl-1-hexene
' 4 5-dimethyl-6-hexene
L' 4.5-dimethyl-5-hexene
' 2.3-dimethyl-2-hexene
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Identity the Bronsted-Lowgy acid in the following reaction.
HO + €O~ — HCO, + OH




Scanned witl

Total ﬁ&cslbﬁs in ea_tar_n'. 40 _j Ans_xs;eféd 13

Question No. 17

N
What is the oxidation numberofsulfur in SO, ?

‘2
® 9
¢

od

O'h




N

Scanned with CamScanner
Question Ko 1)

Refer to the reaction shown below. Removing sulfur dioxsde as 1t is formed will
JH)S (2) 4 302 () 250 (1) 4 21120 (1)
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Question No. 16

- —_— - ———

The narme of the chemical compound CuOH s

————

& copper hvaronde
' copper(l) hyaroxxte
~copper(iit) hycroxide
® copper(il) hycroxnde
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Question No. 10

The mokecular formula for the Ayarocarbon dutane” js

e ——
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"~ What

1 the comect ramme of e following compoupdy
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Question No. 11

I 3 dran cleaning solution has a pH = 13, this solution 1s

weakly aode
sirongly acic

etrrnmbs hac
SU UGy 0asic

weaily basc
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uestion No, 7

The molar mass of C3Hg0; 1s

76 g/mol
42 g/mol
v 32 g/mol
U 69 g/mol
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| Question No.

| L e o STy —

' To which family does the following organic compound belong?

0
I
CH;-CH)-C-CH-CH;
O akcoho
(' augenyde
O ketone
U ether
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Question No. §

[Jentty an onk. bond

[ ke tons ae shared
Frotons ane oyt
L eclrons are eansterred

Hrolons are gained

Scannet



-

Scanned with CamScanner

Identily the Bronsted-Lowry acid in the following reaction.
HO + €O~ —» HCO, + OH
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Chemistry FT_Sem2_ 20719

Question No. 8

A reaction with an equilibrium constant K. = 1.5 x 107 would consist of which of the following at equilibriuz

mainly progucts are favored
doproximalely equal reactants and products
mamy reactants are favored

sorme redclants and products with reactants shahtly favored

d
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Question No. 4
Two moke of any substance contains particies?

) 24
12.044x 10

T 6.022x 1023
24

1.20x 10
3.011x 1027
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It 2 ram water sample has a pH = 5 8, this sample 15 .

wedakly aoxic
SIrongly acxic
werakly basx

neutral P
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Question No, 1

When a system is at

chemical equilibrium

€ 1ate of the forwarg
€ rate of the 1o,

feaction js Small co

wargd féaction j €qual to g,
the rate Of the feverse reactj

Ction is Smay com
lhe aMountg of Product and ¢

reaciant

Y th
b Mpared to the reverse

€ rate of the re Verse.

ared to orwarg
Clly equgy

are €xa
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" Question No. 2

Identify the conjugate base in the following reversible reaction.
HF(aq) + HSOs3-(aq) < F-(aq) + H,SOs(aq)

' F-(aq)
- HF(aq)
' H,S0s(aq)
© HSOs-(aq)

‘
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O am

O ester
O amme
QO amde
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ran water sample has a pH = 5 8, this sample 15 .




